Perimeter and Area of Triangles (A)

Calculate the perimeter and area for each triangle.
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_ 4y
S s
15.6 ft
P—7ft 4.2 cm
A =7 ft? P=7cm
A =7 cm?
; 4.
E
0
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7.4 mi
P=7 mi
A = ? mi®
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3.1 yd
14.9 AU P=7yd
: A =7 yd?
P=7AU
A =7 AU?
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Perimeter and Area of Triangles (A) Answers

Calculate the perimeter and area for each triangle.
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15.6 ft

P =446 ft

A = 80.34 ft?
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7.4 mi

P = 26 mi
A = 31.45 mi?

av L €1

14.9 AU

P = 488 AU
A = 102.065 AU?

4.2 cm

g

@
16.5 cm

P =469 cm
A = 105.6 cm?

3.1 yd

P =313 yd
A = 16.74 yd?
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Perimeter and Area of Triangles (B)

Calculate the perimeter and area for each triangle.

i 2. |
g =
~ <t
o —
. ;
3.2 cm 16.1 in
Ao ) P / 1'112
= fcan A=7in
4.
3.4 km
P=7km
A = ? km?
3.3 mm
P=7 mm
A = ? mm?
6.
§ o—
o/ |&
oY 2
~ hﬁb F;i
Vv !
L[] B~
1.2 mi
P=7 mi
A = ? mi®
16.6 yd
P=7yd
A =7 yd?

Math-Drills.com




Perimeter and Area of Triangles (B) Answers

Calculate the perimeter and area for each triangle.

; 2. ‘
: P
<t <t
o —
3.2 cm 16.1 in
P =10.7 cm P = 486 in
A = 5.44 cm? A = 112.7 in?
4,
3.4 km
P =122km
A = 4.76 km?
3.3 mm
P = 14.4 mm
A = 7.26 mm?
6.
</ |
v ~ Q T
> N
1.2 mi -
P=67mi
A = 1.56 mi?
16.6 yd
P =58 yd
A = 144.42 yd?
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Perimeter and Area of Triangles (C)

Calculate the perimeter and area for each triangle.

2.
2.3 m
P=7m
A=7?m?
8.4 mi
P=7mi
A = ? mi®
! 4.
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é %.b;& g
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. 4 mm
7.6 mm
P=7 mm
i:(‘;mmz A =? mm?
=7 mm
6.
N
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g Z
7.7 cm
P=7cm
A =7 cm?
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Perimeter and Area of Triangles (C) Answers

Calculate the perimeter and area for each triangle.

2.
2.3 m
P=119m
A =391 m?
8.4 mi
P = 56 mi
A = 82.32 mj?
! 4.
‘ N -
: S :
< ©
— [xp]
. 4 mm
7.6 mm p 13
= mm
P = 32.6 mm A = 7.2 mm?
A = 45.22 mm? '
6.
N
o S
% Z
7.7 cm
P=291cm

A = 35.805 cm?

Math-Drills.com




Perimeter and Area of Triangles (D)

Calculate the perimeter and area for each triangle.

2. !
<
=
b~
]
3.4 in 16.6 yd
P=7in
A =7 in? P=7vd
: A=7 yd2
4.
= )
- “
17.6 mi
P=7mi
A =7 mi?
5.2 km
P=7km
A =7 km?
6.
§ & N =
~ ¢ A e}
o ? hd ‘C‘j
/o []
4.7 cm 11 ft
P=?cm P=71ft
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Perimeter and Area of Triangles (D) Answers

Calculate the perimeter and area for each triangle.

2. !
<
>
b~
&
34in 16.6 yd
P =239 in
A = 13.43 in? P=613yd
' A = 171.81 yd?
4.
— 25
~ Red
ot Q)
B, {
17.6 mi
P = 54.9 mi
A = 127.6 mi>
5.2 km
P =284 km
A = 22.62 km?
6.
') ? N cﬁ
/[
4.7 cm 11 ft
P = 16.7 cm P =416 ft
A = 12.925 cm? A = 73.15 ft?
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Perimeter and Area of Triangles (E)

Calculate the perimeter and area for each triangle.

1 2.
©/ = \%
9 d
NJ g s
19.3 ft
P=7ft
A =7 ft?
4,
S
7 2
Ng -
9 AU
P=7 AU
A =7 AU? 17.3 nm
P=7nm
A = ? nm?
6.
o
</ | =
A o
< =
6.8 AU
P =7 AU PR
A =7 AU? '
P=7 AU
A =7 AU?
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Perimeter and Area of Triangles (E) Answers

Calculate the perimeter and area for each triangle.

! 2. ‘
s/ = \% 2
& = % N
l 8.7 cm
19.3 ft P =231 cm
P =522t A = 24.795 cm?
A = 128.345 ft2
4.
S
7 2
NZ o
9 AU
P =30.7 AU
A = 40.5 AU? 17:3 nm
P =69.7 nm
A = 173.865 nm?
6.
)
sTRE
A o
< =
6.8 AU
P =252 AU %ﬁg
A = 20.74 AU? '
P =278 AU

A = 20.825 AU?
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Perimeter and Area of Triangles (F)

Calculate the perimeter and area for each triangle.

! 2.
& BN\
N ~5 ?
—
.
19.1 m
P=7m
A=7m? 10.9 km
P=7km
A = ? km?
4,
g £
© —
~/ e
8.1 nm
] P=7nm
7 in A =? nm?
P=7in
A =7 in?
l 6.
o) = &£
< Ny 0
D o™
S
3 /1
N 2.1 ft
18.6 AU P=2ft
P=7AU A =7 ft?

A =7 AU?
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Perimeter and Area of Triangles (F) Answers

Calculate the perimeter and area for each triangle.

! 2.
< g \ ¢
() P
Ny = %
19.1m
P=527Tm
A = 130.835 m? 10.9 km
P = 63.6 km
A = 106.82 km?
4.
g =]
© -
8/ |8
8.1 nm
] P=351nm
7 in A = 34.425 nm?
P = 40.7 in
A = 56.35 in?
: 6.
| Q‘@ dj
= » 2
m' [am]
2
| /1
. 2.1 ft
18.6 AU P = 0.7 ft
P =62.8 AU A = 3.675 ft?

A = 185.07 AU?
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Perimeter and Area of Triangles (G)

Calculate the perimeter and area for each triangle.

2.

3.8 cm

g

QP ©
[aN]

—

P=7cm

19 km

P=7km
A = ? km?

oy

%
13.3 mi

7.1 mi

P=7mi
A = ? mi®
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Perimeter and Area of Triangles (G) Answers

Calculate the perimeter and area for each triangle.

2. ;
g
®Q
=
21 m
P=625m
_ 2
28 om A =186.9m
P = 26.3 cm
A = 18.81 cm?
4.
& =
27 =
o
19 km
P = 54.4 km
A = 119.7 km? 4.5 mm
P =251 mm
A = 18.45 mm?
6.
’\/§ é
S 2
[ [
7.1 mi P=514in
P — 355 mi A = 126.65 in”

A = 47.215 mi?
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Perimeter and Area of Triangles (H)

Calculate the perimeter and area for each triangle.

2. ;
= N, s
> v ~
G o
-
14.6 AU 3.5 nm
P=7AU P=7nm
A =7 AU? A =? nm?
4.
o
w o
: \%
1\
1.6 mi 1.9 nm
P =7 mi P=7nm
A =7 mi? A =7 nm?
6. ;
g
=)
S
.
7.7 nm
7.5 mi P—7nm
P=7 mi A =7 nm2
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Perimeter and Area of Triangles (H) Answers

Calculate the perimeter and area for each triangle.

2. ;
— ]} !
S & g
5 G :
d o
14.6 AU 3.5 nm
P =425 AU P=11.3 nm
A = 73.73 AU? A = 5.95 nm?
4.
o
w KoX
N
5 %
AN
1.6 mi ].9 nm
P = 10.3 mi P =8.5nm
A = 248 mi® A = 2.85 nm”
6. ;
g
]
S
7.7 nm
7.5 mi P = 29.3 nm
A = 38.885 nm?

P =37.1 mi
A = 42.375 mi?
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Perimeter and Area of Triangles (I)

Calculate the perimeter and area for each triangle.

2. ‘
E
©
=)
11.9 mi
P=7mi
A = ? mi®
4,
© <
> S o >
=g = 0 v
= °
AN
5.9 ft ]
P=7ft 1.5 in
A =7 ft? P=7in
A =7 in?
6.
4.5 ft
1.1 km P=71ft
P=7?km A =7 ft?
A = ? km?

6.4 ft
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Perimeter and Area of Triangles (I) Answers

Calculate the perimeter and area for each triangle.

! 2. ‘
- E
; @
= =
. 11.9 mi
1521 P = 43.9 mi
P =413in A = 88.06 mi?
A = 81.84 in?
4.
© <
= " w L
= G % o
=3 2
AN
5.9 ft ]
P =268 ft 1.5 in
A = 28.32 ft? P=294in
A = 2.85 in?
6.
4.5 ft
1.1 km P =228 1t
P = 10.8 km A= 1441
A = 2.09 km?

6.4 ft
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Perimeter and Area of Triangles (J)

Calculate the perimeter and area for each triangle.

2.
: G
< JA@’
Q.
4.7 km
P =7? km 3 yd
A =7 km? P=7vd
A =7 yd?
4. ;
~
=
N 14.8 ft
- P =7 ft
A=7ft?
6.
g g
:f ™
~ S
[ [
7.2 mi
P=7mi
6.8 ft
p_o¢ A = ? mi®
=71t
A=7ft?
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Perimeter and Area of Triangles (J) Answers

Calculate the perimeter and area for each triangle.

2.
= “
~« JA@’
Q.
4.7 km
P — 31.3 km 3yd
A = 23.97 km? P=118yd
A = 5.85 yd?
4. ;
&
P = 34.4 mm st
_Ep 2
A = 56.42 mm P — 4.0 ft
A = 112.48 ft?
6.
g g
¥ ~
NS
L[]
7.2 mi
P = 48.8 mi
6.8 ft
b a0 A = 72.72 mi?
A = 33.32 ft?
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